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AL (1EX0) 1202.10-091 201341 H TH ~121 Bar

S 223 B FAM YR B FAM Y
105 FaE N BCICHI[E] 1000 | MT 0 = 0 0 = 0
oal 1000 [ MT 0 - 0 0 0
HEEREEIESES 1000 | MT 0 - 0 0 0
AL (B3) 1202.20-091 201371 H 1H~12H %G

ESEZ BN | MT B= B T B= B R
105 e N R IR [E 1000 MT 1,910 227 433,125 1,910 2201 433,125
123 A~F 1000 | MT 108 178 19,258 108 178 19,258
304 7 AU G R 1000 | MT 403 181 72,759 403 181 72,759
410 77 )L 1000 | MT 17 163 2,773 17 163 2,773
41 "STTA 1000 | MT 24 181 1,338 24 181 4,338
113 7B T 1000 | MT 317 215 68,037 317 120 38,037
551 A7 7 U 0 1000 | MT 136 228 99,442 136 228 99,442
601 A — AR T 1000 MT - =
oal 1000 [ MT 3,215 218] 699,732 3,215 208 669,732
HEEEEIEST 1000 | MT 3,232 180] 583,196 3,232 180 583,196
Rl BB A (GRAD) 2008.11-291 201341 H 1H~12H %5

[H 4 BT B= B T B= B T
105 e N R IR [E 1000 KG 919,536 222] 204,553 919,536 290 204,553
106 &5 1000 KG - -
ol 1000 | KG 919,536 222] 204,553 919,536 229 204,553
HEEREEIESES 1000 [ KG | 1,107,794 204 225,579 1,107,794 204 225,579
Rl 7= ARAE (ZDAfth) 2008.11-292 201341 H 1H~12H %5

ESEZ BT B= B T B= B R
103 i Dol 1000 KG = B
105 HEE A RALFR[E 1000 | KG 259,082 229 59,409 259,082 229 59,409
208 ~ L — 1000 | KG 1,500 339 509 1,500 339 509
& et 1000 ] KG 260,582 230] 59,918 260,582 230 59,918
FEREEEST 1000 | KG 178,712 212 37,844 178,712 212 37,844
Z DA A S 2008.11-299
(OB —F ) 201341 4 1H~12H %%

ESE 223 B FAM YR B FAM Y
NEE NS 1000 | KG | 3,268,480 225  736,024] 3,268,480 295 736,024
410 7o )0 1000 | KG - -
B 1000/ [ KG | 3,268,480 225] 736,024] 3,268,480 225 736,024
FEREEEST 10000 [ KG | 4,037,286 182 736,303 4,037,826 182 736,303
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ERR254E (20134F) 1HBE

HAR T
HAY —F o Vis

Z DB R i QIR D )] 2008.11-120 201311 TH~120 Bar

ESE3 HAL BE L ThAE BE L ThAe
NEE NS 10000J | KG 64.228]  293] 18,831 64,228 293 18,831
110 <FF A 1000[T | KG — —
Nz 1000 | KG — —
117 74)E~ 1000M | KG — —
304 7 AU 5 B 1000 | KG 147.394]  526] _ 77.589 147,394 526 77,589
110 772/ 1000 | KG 1,488 216 321 1,488 216 321
i 10001 | KG 213,110 154] 96,741 213,110 154 96,741
HEEEEESS 1000 | KG 174,213 284 49,532 174,213 284 79,532
E—) N H— (EE) 2008.11-210 20134 1)) TH~120 BaF

ESE3 HAL BE L ThAE BE L e
NEE NS 10000 | KG 377.383]  237]  89.547] 377,383 237 89,547
302 BT X 1000[7 | KG — —
304 7 AU 5 B 10001 | KG 20,411 248 5,062 20,411 248 5,062
601 T — AT T 10001 | KG 35,280 303] 10,677 35,280 303 10,677
o5 10001 | KG 133,074] _ 243] 105,286] 433,074 243] 105,286
HEEEEESS 1000 | KG 363,568 2271 82,399 363,568 227 82,399
G 0713.50-221 20134117 TH~12H %ar

ESE3 HAL BE L ThAE BE L e
NEE NS 10001 | MT 513 109] 55,703 513 109 55,703
205 H[H 10001 | MT — —
AVEES 1000 | MT = -
302 HT X 10001 | MT — —
108 RUE T 1000 | MT B -
601 A —ARTU 7 1000 | MT 21 58 1,211 21 58 1,211
i 1000 MT 534 107] 56,014 534 107 56,014
HEEEEESS 10001 | MT 867 108] 93,317 867 108 93,317
Mg (ZALED) 0713.10-221 201341 5 TH~12H %z

ESE3 HAL BE L ThAE BE L e
105 T3 N e JE AT 10001 | MT - =
205 H[H 10001 | MT 163 100 16,735 168 100 16,735
227 /N T — 1000 | MT — =
302 HT X 10001 | MT 168 571 26.567 168 57 26,567
304 7 AU & B 1000 | MT 256 921 23,613 256 92 23,613
601 A —ANTU T 10001 | MT 42 57 2,379 42 57 2,379
606 ——>—S R 1000 MT 106 101] 10,710 106 101 10,710
it 1000 MT 1,040 771 80,004 1,040 77 30,004
S EEESSS 10001 | MT 1,116 65| 73,060 1,116 65 73,069

2/6



BT Fo Y B B R A

@fE - E B RT

ERR254E (20134F) 1HBE

HAR T
AAY —TF o ie

B a—F 0801.32-000 201341 5 TH ~121 Bar

ESE2 FNT B FAM YR B FAM Y
110 XK A 1000 | KG 31,569 371 11,703 31,569 371 11,703
I8 (R T 1000 | KG 340 947 322 340 947 327
123 AoF 1000 | KG 555,656 704] 391,170 555,656 704 391,170
125 AT 7 1000 | KG = =
541 T=7 1000 KG 15,875 563 9,014 15,875 563 9,014
e 1000 KG 603,440 683] 412,200 603,440 683 112,200
HERERIESES 1000 | KG 602,461 745 448,850 602,461 745 148,850
7 —ER (G 0802.11-200
Zp— T —FLF 201341 A 1H~12H %3

ESEZ BT B= B T = B T
220 A XU 1000 KG = =
304 7 AV 15 2R [E 1000 KG 16,782 560 9,393 16,782 560 9,393
oat 1000 | KG 16,782 560 9,393 16,782 560 9,393
HEREEIESES 1000 | KG 9,978 331 3,303 9,978 331 3,303
T —ELR GRERRWZHD) 0802.12-100
B ==K 201341 H 1H~12H 23

ESEZ BT B= B T B= B R

1000 | KG = =

o et 1000 ] KG 0 = 0 0 = 0
AR EEIEST 1000 | KG 0 = 0 0 = 0
T —EUR GREBRWZHD) 0802.12-200
AL —hT —FEVK 201341 A 1H~12H Bzt

ESE2 FNT B FAM YR B FAM Y
210 77 A 1000 | KG 4,500 1,086 4,886 4,500 1,086 4,886
218 AAo 1000 | KG 11,490 767 8,812 11,490 767 38,812
220 AZ)T 1000 | KG 1,500 667 1,000 1,500 667 1,000
304 7 AU AR 1000 | KG | 3,434,082 551] 1,891,142] 3,434,082 551 1,891,142
601 A —AFTU T 1000 KG - -
oal 1000 | KG | 3,451,572 552] 1,905,840] 3,451,572 552] 1,905,840
HESEEIESES 1000 | KG | 2,929,945 409[ 1,197,439 2,929,945 409 1,197,439
B RAF A G 0802.50-000 201341 H 1H~12H %5k

4 BT B= EER i T i EER i T
133 47 1000 KG = =
213 KA 1000 | KG = =
220 AZUT 1000 | KG = =
304 7 AU 5 R E 1000 | KG 194,161 783 152,011 194,161 783 152,011
NN % % 1000 | KG - -
B 1000 ] KG 194,161 783 152,011 194,161 783 152,011
FEREEES 1000 | KG 158,176 688[ 108,792 158,176 688 108,792
EREF A GREROTZHD) 0802.50-000 201341 5 TH ~121 Bar

ESE2 FNT B FAM YR B FAM Y
133 A7 1000 | KG 26,800 1,657 44,412 26,300 1,657 44 412
213 RAY 1000 | KG = =
220 AZ)T 1000 | KG 2,600 4,765 12,390 2,600 4,765 12,390
304 7 A 5 IRE 1000 | KG 12,246] 1,255 15,365 12,246 1,255 15,365
113 TP T 1000 KG - -
o 1000 | KG 11,646] 1,733 72,167 11,646 1,733 72,167
HEREEIESES 1000 | KG 13,407| 2,549 34,168 13,407 2,549 34,168
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ERR254E (20134F) 1HBE

HAR T
AAY —TF o ie

<BHH GREFEDLD) 0802.31-000 20134E1 H TH ~121 Bar

[H % LT B= ELA YR B ELA Y
304 7 AU 75 R E 10001 | KG = =
ol 1000 | KG 0 - 0 0 - 0
PR EES 1000 | KG - -
B GREBRWIZHD) 0802.32-000 201341 H 1H~12H %5k

ESEZ BT B= B R B= B T
105 H3E A BEIGAN 1000 KG 46,282 776 35,925 46,282 776 35,925
210 75 A 1000 | KG = =
304 7 AV T B IRIE 1000 | KG 1,431,660 895] 1,281,658 1,431,660 895] 1,281,658
o et 1000/ [ KG | 1,477,942 891] 1,317,583 1,477,942 891] 1,317,583
FEREEIEST 1000 [ KG | 1,140,646 759] 866,171| 1,140,646 759 866,171
~—B /LT () 0802.21-000 2013417 TH~12H %ar

B2 LT B= FLA YR B ELA Y
234 ML 1000 | KG = =
304 7 AT B IRIE 1000 | KG - -
o et 1000 ] KG 0 = 0 0 = 0
FEREEEST 1000 | KG 600 443 266 600 443 266
~—PLF Y FBEERVEED) | 0802.22-000 201341 5 TH~121 %2z

B2 LT B= FLA YR B ELA Y
218 AA o 1000 | KG = =
220 AZUT 1000 | KG 1,980 953 1,887 1,980 953 1,887
234 ML 1000 | KG 24,500 552 13,517 24,500 552 13,517
304 7 AV T B IRIE 1000 | KG 226] 1,261 285 226 1,261 285
o et 1000 ] KG 26,706 587 15,689 26,706 587 15,689
AR EEIEST 1000 | KG 74,485 727 54,136 74,485 727 54,136
~ AT I TV (G 0802.60-000 2013511 T~ T2 BaT

[H % LT B= ELA YR B ELA Y
601 4 —ARID T 1000 | KG = =
o 1000 T KG 0 - 0 0 - 0
CEREEER S 1000 | KG - -
~ AT YT GRERCZHD) | 0802.60-000 20135 1] LA~ 127 70

[H 4 BT B= B T B= B T
306 V7T~ 1000 KG 18,144] 1,379 25,023 18,144] 1,379 25,023
410 77 )L 1000 | KG = =
541 =7 1000 | KG 29,880 1,243 37,155 29,880 1,243 37,155
551 7 7 ) 7 TN 1000 | KG 65,839 1,196 78,714 65,839 1,196 78,714
553 <7 A 1000 | KG = =
601 A — AU 7 1000 KG 123,547] 1,501] 196,594 123,547 1,591 196,594
ot 1000 T KG 237,410] 1,422] 337,486 237,410 1,422 337,436
HEEEEIEST 1000 | KG 191,034 1,285] 245,401 191,034 1,285 245,401
~ BT IY Y (@—AR) 2008.19-221 201341 H 1H~12H %5k

ESEZ BT B= B T = B T
112 > Ih—)L 1000 KG - -
304 7 AU 5 R E 1000 | KG 12,934 2,652 34,302 12,034 2,652 34,302
601 A —ARIT T 1000 | KG 54,776] 1,255 68,762 54,776 1,255 68,762
B et 1000 ] KG 67,710] 1,522] 103,064 67,710 1,622 103,064
FEREEIEST 1000 | KG = =
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ERR254E (20134F) 1HBE

HAR T
HARE —F e

v — 0 0802.90-300 201341 5 TH ~121 Bar

ESE2 223 B FAM YR B FAM Y
304 7 AV 7 0y 1000 | KG 14,363 1,263 18,135 14,363] 1,263 18,135]
551 A 7 7 U 0 1000 | KG = =
601 A — AR T 1000 KG - -
oal 1000 KG 14,363] 1,263 18,135 14,363 1,263 18,135
HEREEIESES 1000 | KG 0 - 0 0 - 0
L—R. 0806.20-000 201341 5 TH ~121 Bar

ESE2 223 B FAM YR B FAM Y
NEE NS 1000 | KG 86,620 364 31,567 86,620 364 31,567
110 _XFF A 1000 | KG = =
123 AF 1000 | KG = =
13347 1000 | KG = =
218 A~A 1000 | KG 1,000 985 985 1,000 985 985
220 AZUT 1000 | KG = =
230 XV ¥ 1000 | KG = =
234 ML 1000 | KG 74,778 251 18,777 74,778 251 18,777
304 7 AUA G RE 1000 | KG | 2,871,156 290 832,377 2,871,156 290 832,377
409 71 1000 | KG 80,000 243 19,458 80,000 243 19,458
NN % % 1000 | KG = =
551 FA 7 7 U 0 1000 | KG 87,500 264 23,106 87,500 264 23,108
601 A —ANTUT 1000 KG 3.502 445 1.560 3.502 445 1.560
o 1000 KG | 3,204,556 290] 927,830] 3,204,556 290 927,330
HEREEIESES 1000 | KG | 2,203,706 249 548,122 2,203,706 249 548,122
HA T () 0813.10-000 201341 H 1TH~12H 2T

ESEZ BT B= B T B= B R
105 e N R IR [E 1000 KG 24,000 170 4,084 24,000 170 4,084
234 ML 1000 | KG 40,790 374 15,257 40,790 374 15,257
304 7 AU AR 1000 | KG 23,629 1,308 30,904 23,629 1,308 30,904
551 FA 7 7 VA FEFNE 1000 KG — —
ol 1000 | KG 88,419 563 50,245 88,419 563 50,245
HEEREEIESES 1000 | KG 61,558 342 21,056 61,558 342 21,056
7 )L— (Fa)E) 0813.20-000 201341 H 1H~12H %5

ESEZ BT B= EER i T B= EER i T
105 e N R IR [E 1000 KG = =
210 75 A 1000 | KG 14,937 344 5,131 14,931 344 5,131
220 AZUT 1000 | KG 300 770 231 300 770 231
234 ML 1000 | KG = —
304 7 AU AR 1000 | KG 591,888 354] 209,486 591,888 354 209,486
409 57 1000 KG - -
o et 1000 | KG 607,125 354] 214,848 607,119 354 214,348
BREAEEER 1000 | KG 660,330 307] 202,471 660,380 307 202,471
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ERR254E (20134F) 1HBE

HAR T
HARE —F e

SEE R FBHEAE A D KL, /NI OB NGB
T =R AL E 2012712 T~121 %af

ESE3 PiREAA = WEHE HEK B WEHE HEK
105 T3 N T JE A MT 0 0 0 0 0 0
(LA ) MT 0 0 0 0 0 0
RRFERACE (B Y) 2012712 T~121 %af

ESE3 PiREAA BE WEHE PE BE WEHE PE
NEE NS MT 501 538 ~87 6,057| 7,168 ~1,711
304 7 A 5 IRE MT 0 0 0 59 75 ~16
601 A —AFU 71 MT 0 0 0 31 0 34
o MT 501 533 —87 6,200] 7,843 —1,643
R TR AL (BE ) 20120121 1~12H Bar

ESE3 B L B WEAE PR BE WEAE PR
105 H e A BJEAD[E] MT 381 1,416 -1,035 7,216 8,068 —-852
111 %A MT 0 0 0 0 0 0
123 A F MT 0 38 —38 291 209 —188
304 7 A5 K MT 376 291 85 5,342 8,003 —0.,661
4110 7520 MT 0 0 0 164 162 2
411 577 A MT 0 0 0 0 0 0
R % MT 113 269 ~156 3,131 1,501 1,630
551 73 7 7)) 70 FEFNE] MT 532 463 69 3,855] 4,690 ~835
601 A — ARV T MT 31 0 31 106 234 —128
et MT 1,436] 2,477] 1,041 20,035] 23,067 —3,032
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